PROJECT TITLE: MISSION BOULEVARD CORRIDOR IMPROVEMENTS - PHASE 2

PROJECT NO.: 05270

BIDS OPENED: DECEMBER 5, 2017

NUMBER OF BIDS RECEIVED: 6

MX

ATTACHMENT IV

Morad Fakhrai, Director of Public Works

Dato

BID SUMMARY

ENGINEER'S ESTIMATE

ITEM	ITEM CODE	DESCRIPTION	QTY. UN	T UNIT PRICE	TOTAL	
1	10-1.08	MOBILIZATION	1 LS	2,000,000.00	2,000,000.00	
2	10-1.30	CLEARING AND GRUBBING	1 LS	125,000.00	125,000.00	
3	10-1.31	DEVELOP WATER SUPPLY	1 LS	55,000.00	55,000.00	
4	10-1.02	Water pollution control	1 LS	300,000.00	300,000.00	
5	10-1.02	PREPARE SWPPP	1 LS	10,000.00	10,000.00	
6	10-1.09	MAINTAINING TRAFFIC	1 LS	600,000.00	600,000.00	
7	10-1.33	ROADWAY EXCAVATION	16200 C	60.00	972,000.00	
8	10-1.28	REMOVE TREES	285 EA	500,00	142,500.00	
9	10-1.29	REMOVE STREET LIGHT	37 EA	1,600.00	59,200.00	
10	10-1.27	REMOVE TRAFFIC STRIPES, PAVEMENT MARKING, AND PAVMENT MARKER	1 LS	50,000.00	50,000.00	
11	10-1.11	REMOVE CONCRETE CURB & GUTTER	6970 LF	11.00	76,670.00	
12	10-1.11	REMOVE CONCRETE CURB	1125 LF	10.00	11,250.00	
13	10-1.11	REMOVE CONCRETE MEDIAN CURB	13800 LF	10.00	138,000.00	
14	10-1.11	REMOVE CONCRETE SIDEWALK	68470 SF	4.00	273,880.00	
15	10-1.11	REMOVE CONCRETE MEDIAN	31600 SF	4.00	126,400.00	
16	10-1.12	REMOVE ASPHALT CONCRETE PATH	32250 SF	3.50	112,875.00	
17	10-1.14	REMOVE CONCRETE PLANTER	17 EA	200.00	3,400.00	
18	10-1.11	REMOVE CONCRETE MEDIAN PAVER	2400 SF	4.00	9,600.00	
19	10-1.15	REMOVE BRICK PILASTER	12 EA	1,000.00	12,000.00	
20	10-1.21	REMOVE STORM WATER INLET	7 EA	1,200.00	8,400.00	
21	10-1.20	REMOVE 12" STORM DRAIN	24 LF	50.00	1,200.00	
22	10-1.20	REMOVE 18" STORM DRAIN	13 LF	70.00	910.00	
23	10-1.25	ADJUST STORM DRAIN MANHOLE	5 EA	3,000.00	15,000.00	
24	10-1.25	ADJUST SANITARY SEWER MANHOLE	5 EA	3,000.00	15,000.00	
25	10-1.19	ABANDON 8" PLASTIC PIPE	33 LF	23.00	759.00	
26	10-1.16	ADJUST/RELOCATE EXISTING BUS FACILITIES & MISC. ITEMS	1 EA	20,000.00	20,000.00	
27	10-1.16	remove/salvage/reinstall bench	1 EA	1,500.00	1,500.00	
28	10-1.16	REMOVE/SALVAGE/REINSTALL TRASH RECEPTACLE	4 EA	1,500.00	6,000.00	
29	10-1.26	ADJUST WATER VALVE BOX & FRAME	64 EA	500.00	32,000.00	
30	10-1.26	ADJUST WATER METER BOX & FRAME	19 EA	500.00	9,500.00	
31	10-1.26	ADJUST MONUMENT BOX & FRAME	10 EA	1,500.00	15,000.00	
32	10-1.26	ADJUST ANTI-SIPHON VALVE BOX & FRAME	1 EA	745.00	745.00	
33	10-1.42	ADJUST STORM WATER INLET	3 EA	2,500.00	7,500.00	
34	10-1.26	ADJUST ELECTRONIC TEST STATION BOX & COVER (PG&E - GAS)	1 EA	1,000.00	1,000.00	
35	10-1.26	ADJUST TV BOX & COVER	1 EA	1,000.00	1,000.00	
36	10-1.26	ADJUST TV CABLE BOX & COVER	3 EA	1,000.00	3,000.00	

	····				4 1 1 1 1 1 1	
37	10-1.26	ADJUST TV VAULT	2	EA	2,500.00	5,000.00
38	10-1.26	ADJUST ELECTRICAL PULL BOX	1	EA	500.00	500.00
39	10-1.26	ADJUST AIR RELEASE VALVE BOX AND FRAME	1	EA	500.00	500.00
40	10-1.26	ADJUST GAS METER BOX AND FRAME	<u> </u>	EA	500.00	500.00
41	10-1.17	ADJUST FIRE HYDRANT	9	EA	2,000.00	18,000.00
					 	
42	10-1.23	COLD PLANE	5040	SY	12.00	60,480.00
43	10-1.24	MILLING AND GRINDING	1680	SY	15.00	25,200.00
44	10-1.22	MOVABLE CURB OVER MANHOLE	11	EA	1,500.00	16,500.00
45	10-1.40	COLD-IN PLACE RECYCLING	427130	SF	2.50	1,067,825.00
46	10-1.45	DETECTABLE WARNING SURFACE	445	SF	32.00	14,240.00
47	10-1.37	HMA (TYPE A) - OVERLAY	9050	TN	100.00	905,000.00
48	10-1.37	HMA (TYPE A) - FULL PYMNT & FULL DEPTH	9690	TN	195.00	1,889,550.00
49	10-1.37	HMA (TYPE A) - PED/BIKE TRAIL IN LINEAR PARK	797	TN	150.00	119,550.00
50	10-1.53	SUBGRADE ENHANCEMENT GEOTEXTILE				
			1800	SY	3.00	5,400.00
51	10-1.35	AGGREGATE BASE - CLASS 2 (UNDER PED/BIKE TRAIL IN LINEAR PARK & FULL PVMNT)	2419	CY	80.00	193,520.00
52	10-1.44	MINOR CONCRETE SIDEWALK	91880	SF	14.00	1,286,320.00
53	10-1.44	MINOR CONCRETE "CURB RAMPS"	25	EA	4,500.00	112,500.00
54	10-1.44	MINOR CONCRETE MEDIAN PAVING	756	SF	12.00	9,072.00
55	10-1.44	MINOR CONCRETE 8' VERTICAL CURB (MEDIAN/ISLAND)	13500	LF	30.00	405,000.00
56	10-1.44	MINOR CONCRETE 6" VERTICAL CURB (PLANTER)	9680	LF	25.00	242,000.00
57	10-1.44	MINOR CONCRETE VERTICAL CURB MISC	960	LF	20.00	19,200.00
58	10-1.44	MINOR CONCRETE STANDARD/DEPRESSED CURB AND GUTTER	15120	T LF	40.00	604,800.00
		4				
59	10-1.18	MODIFY INLET TO SDMH	1	EA	5000.00	5,000.00
60	10-1.42	STORM WATER INLET TYPE A	6	EA	4000.00	24,000.00
61	10-1.42	STORM WATER INLET TYPE D	11	EA	4000.00	4,000.00
62	10-1.43	REINFORCED CONCRETE PIPE 18"	270	LF	220.00	59,400.00
63	10-1.52	PLASTIC PIPE CURB DRAIN 3"	140	LF	10.00	1,400.00
64	10-1.43	REINFORCED CONCRETE PIPE 12"	36	LF	250.00	9,000.00
65	10-1.42	CALTRANS STORM WATER INLET G2 MOD	6	EA	4500.00	27,000.00
66	10-1.42	CALTRANS STORM WATER INLET GT4	1	EA	4500.00	4,500.00
67	10-13-2		<u> </u>	LS	320000.00	320,000,00
		TRAFFIC SIGNAL AT MISSION BLVD AND GARIN AVENUE				
68	10-3	TRAFFIC SIGNAL AT MISSION BLVD AND ARROWHEAD WAY	11	LS	355000.00	355,000.00
69	10-3	TRAFFIC SIGNAL AT MISSION BLVD AND FAIRWAY STREET	1	LS	375000.00	375,000.00
70	10-3	Traffic signal at mission blvd and gresel street	1	LS	375000.00	375,000.00
71	10-3	TRAFFIC SIGNAL AT MISSION BLVD AND BLANCHE STREET	1	LS	275000.00	275,000.00
72	10-3	TRAFFIC SIGNAL AT MISSION BLVD AND ROUSSEAU STREET	1	LS	300000.00	300,000.00
	10-1.46 to		_			
73	10-1.51	signing and striping (including removal of existing signs)	1	LS	375000.00	375,000.00
74	10-3	FURNISH AND INSTALL SPLICE ENCLOSURE FOR SIC	8	EA	2000.00	16,000.00
75	10-3	FURNISH AND INSTALL FIBER OPTIC LATERALS 12-STRAND FOR SIC	140	LF	5.00	700.00
)	 	·····	
76	10-3	FURNISH AND INSTALL TYPE 6E FIBER OPTIC PULL BOX FOR SIC	21	EA	1500.00	31,500.00
77	10-3	FURNISH AND INSTALL 2" FIBER OPTIC CONDUIT WITH 2" SPARE VIA TRENCHING FOR SIC	8000	LF	30.00	240,000.00
78	10-3	FURNISH AND INSTALL 96-STRAND FIBER OPTIC CABLE FOR SIC	8750	LF	13.00	113,750.00
79	10-3	INSTALL CONDUIT INTO EXISTING PULLBOX FOR SIC	2	EA	700.00	1,400.00
80	10-3	FURNISH AND INSTALL TRACER WIRE FOR SIC	8000	LF	3.00	24,000.00
81	10-2.05	INTERLOCKING PAVERS (INCLUDING PAVED NOSE)	10985	SF	20.00	219,700.00
82	10-2.07	DECOMPOSED GRANITE MULCH	14530	SF	6.00	87,180.00
83	10-2.04	BOULDERS	44	EA	800.00	35,200.00
84	10-1.36	BRICK COLUMNS	23	EA	4000.00	92,000.00
85	10-2.06	5'H METAL FENCE	2886	LF	255.00	735,930.00
		FAIRWAY GATEWAY MONUMENT SIGN	1 1	- 		80,000.00
86	10-2.04		1	LS	80000.00	
87	10-2.04	CORRINE GATEWAY MONUMENT	ļ <u>ļ</u>	LS	80000.00	80,000.00
88	10-2.04	ENTRY GATEWAY MONUMENT AT BLANCHE STREET	1 0772.40	LS	167700.00	167,700.00
89	10-2.02	BARK MULCH- MEDIAN SOUTH OF BLANCHE AND WEST EASTMENT ZONE	27340	SF	2.00	54,680.00
90	10-2.02	SHRUB PLANTING AREA (INCLUDING FINE GRADING, SOIL AMENDMENT, PLANT MATERIALS)	50493	SF	5.00	252,465.00
91	10-2.02	TREES (24" BOX, INCLUDING ROOT BARRIERS ALONG ONE SIDE)	193	EA	700.00	135,100.00
92	10-2.02	TREES (1.5 GALLON, INCLUDING ROOT BARRIER ALONG BOTH SIDES AND AT BOTTOM)	141	EA	900.00	126,900.00
93	10-2.03	TREE BUBBLERS	334	EA	30.00	10,020.00
94	10-2.03	IRRIGATION CONTROLLER / MASTER VALVE / BACKFLOW PREVENTOR / FLOW SENSOR	4	EA	12500.00	50,000.00
95	10-2.03	IRRIGATION WATER METER (TWO 1-1/2" WATER METERS REQUIRED FOR THE PROJECT PER ZONE 7 WATER CONNECTION FEES)	2	EA	124150.00	248,300.00
96	10-2.03	120-DAY PLANT ESTABLISHEMENT PERIOD	1 1	LS	25000.00	25,000.00
				SF		
97	10-2.03	IRRIGATION FOR SHRUB PLANTING AREA	50493	_ 3F	14.00	706,902.00

2 of 6

~ ~						
98	10-2.02	IMPORTED TOPSOIL (MEDIANS, FAIRWAY PLANTER AND BLANCHE PLAZA)	1823	CY	65.00	118,495.00
99	10-2.02	IMPORTED TOPSOIL AT BIKE LANE PLANTER	1966	CY	65.00	127,790.00
100	10-2.02	24" BOX TREE PLANTING (FOR BIKE LANE DIVIDER PLANTERS)	8	EA	1800.00	14,400.00
101	10-2.07	STEEL HEADER	95	LF	25.00	2,375.00
102	10-4	6" CONDUIT	14200	LF	13.00	184,600.00
103	10-4	4" CONDUIT	5300	LF	8.00	42,400.00
104	10-4	3" CONDUIT	1000	LF	7.00	7,000.00
105	10-4	50" X 52" TRANSFORMER PAD	3	EA	5000.00	15,000.00
106	10-4	4'6" X 8'6" X 6' #7-BOX PRIMARY BOX	8	EA	6500.00	52,000.00
107	10-4	4' X 6'6" X 5' #6-BOX SECONDARY BOX	5	EA	6000.00	30,000.00
108	10-4	17" X 30" X 18" #2-BOX SECONDARY BOX	7	EA	795.00	5,565.00
109	10-4	72" X 82" CAPACITOR PAD	i	EA	2500.00	2,500.00
110	10-4	3 PHASE PRIMARY RISER	8	EA	7500.00	60,000.00
11	10-4	METER PEDESTAL + BASE. TESCO 27-100	6	EA	600.000	36,000.00
12	10-4	C.A.T.V. POWER SUPPLY (SUBSTRUCTURE ONLY)		EA	1800.00	1,800.00
13	10-4	24" X 36" X 12" B44 BOX (EXCAVATION ONLY)	4	EA	3000.00	12,000.00
114	10-4	30" X 60" X 24" B52 BOX (EXCAVATION ONLY)	2	EA	4000.00	8,000.00
15	10-4	4" DUCT FOR FIBER	14500	LF	10.00	145,000.00
16	10-4	3' X 5' X 3' FIBER BOX	9	EA	600.00	54,000.00
17	10-4	24" X 55" JOINT TRENCH EXCAVATION AND BACKFILL	733	LF	220.00	161,260.00
18	10-4	30" X 55" JOINT TRENCH EXCAVATION AND BACKFILL			······································	
19	10-4		129	LF LF	230.00	29,670.00
20	10-4	18" X 56" JOINT TRENCH EXCAVATION AND BACKFILL	67	LF LF	210.00	14,070.00
		18" X 50" JOINT TRENCH EXCAVATION AND BACKFILL	294	LF	180.00	52,920.00
21	10-4	18" X 55" JOINT TRENCH EXCAVATION AND BACKFILL	41	LF V5	210.00	8,610.00
22	10-4	18" X 53" JOINT TRENCH EXCAVATION AND BACKFILL	43	LF LF	180.00	7,740.00
23	10-4	18" X 43" JOINT TRENCH EXCAVATION AND BACKFILL	1059	LF LF	200.00	211,800.00
24	10-4	18" X 54" JOINT TRENCH EXCAVATION AND BACKFILL	3017	LF	210.00	633,570.00
25	10-4	18" X 41" JOINT TRENCH EXCAVATION AND BACKFILL	1224	LF	175.00	214,200.00
26	10-4	30" X 54" JOINT TRENCH EXCAVATION AND BACKFILL	696	LF	225.00	156,600.00
27	10-4	30" X 43" JOINT TRENCH EXCAVATION AND BACKFILL	24	LF	220.00	5,280.00
28	10-4	24" X 62" JOINT TRENCH EXCAVATION AND BACKFILL	165	LF	240.00	39,600.00
29	10-4	30" X 60" JOINT TRENCH EXCAVATION AND BACKFILL	48	LF	250.00	12,000.00
30	10-4	18" X 40" JOINT TRENCH EXCAVATION AND BACKFILL	45	LF	175.00	7,875.00
31	10-4	24" X 36" JOINT TRENCH EXCAVATION AND BACKFILL	273	LF	200.00	54,600.00
32	10-4	18" X 36" JOINT TRENCH EXCAVATION AND BACKFILL	94	LF LF	150.00	14,100.00
33	10-4	18" X 35" JOINT TRENCH EXCAVATION AND BACKFILL	383	LF	150.00	57,450.00
34	10-4	3' X 5' X 3'6" #5-BOX PRIMARY BOX		EA	5000.00	5,000.00
35	10-5	12" X 18" STREET LIGHT TRENCH AND BACKFILL	21200	LF	30.00	636,000.00
36	10-5	30' POLE, LUMEC GPLM 180W STREET LIGHT WITH, LUMEC \$55 80W LIGHT WITH FOUNDATION	121	EA	10000.00	1,210,000.00
37	10-5	12' DECORATIVE POLE WITH \$55 80W LIGHT W/ FOUNDATION	32	EA	7000.00	224,000.00
38	10-5	#6 N36 PULLBOX ASSEMBLY	148	EA	800.00	118,400.00
39	10-5	2" PVC, SCH 40, CONDUIT WITH 2 #8'S W/ GROUND CONDUCTORS	21250	LF	25.00	531,250.00
40	10-5	2" PVC, SCH 40 CONDUIT, WITH 2#6CU, 2#8, 2#10, 3#14, AND CCTV POWER CABLE WITH GROUND CONDUCTORS	240	LF	40.00	9,600.00
41	5-1.27	RECYCLING IMPLEMENTATION	1	LS	5000.00	5,000.00
					Total:	\$23,600,193.00
		ADDITIVE BID ALTERNATE NO. 1				
42	10-2.03	EAST MISSION BLVD GREENWAY IRRIGATION - SPRAY IRRIGATION	142482	SF	2.50	356,205.00
					Total:	356,205.00
		ADDITIVE BID ALTERNATE NO. 2				
43	10-2.03	WEST MISSION BLVD ARROWHEAD GOLF COURSE IRRIGATION - SPRAY IRRIGATION	6641	SF	2.50	16,602.50
					Total:	\$16,602.50
= +		ADDITIVE BID ALTERNATIVE NO. 3				
	10-1.25	ADJUST PACBELL MANHOLE	36	EA	\$1,500.00	\$54,000.00
44		ADJUST PACBELL TEL VAULT	5	EA	\$3,600.00	\$18,000.00
	10-1.26					
144 145 146	10-1.26 10-1.27	ADJUST PACBELL TEL BOX	4	EA	\$1,000.00	\$4,000.00
145		ADJUST PACBELL TEL BOX	4	EA	\$1,000.00 Total:	\$4,000.00 \$76,000.00

AWARDED

					Bay Cities Paving truction & Grading, Inc.			O'Grady In	•	Redgwick Construction		
		715 Comstock Company Santa Clara, CA 95054				1450 Civic Ct, Bldg B #400 Concord, CA 94520		2513 Wyando Mountain View,		21 Hegenberger Court Oakland, CA 94621		
Phone No.			Phone No.		Phone No.		Phone No.		Phone No.		Phone No.	
ax. No.			Fax. No.		Fax. No.		Fax. No.		Fax. No.		Fax. No.	
UNIT PRICE		TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
2,276,000.00		2,276,000.00	3,000,000.00	3,000,000.00	1,705,000.00	1,705,000.00		2,500,000.00	1,650,000.00	1,650,000.00	2,750,000.00	2,750,000.00
275,000.00		275,000.00	1,150,000.00	1,150,000.00	75,000.00	75,000.00	25,000.00	25,000.00	400,000.00	400,000.00	510,000.00	510,000.00
25,000.00		25,000.00	50,000.00	50,000.00	3,000.00	3,000.00	6,000.00	6,000.00	15,000.00	15,000.00	5,000.00	5,000.00
25,000.00		25,000.00	100,000.00	100,000.00	15,000.00	15,000.00	65,000.00	65,000.00	15,000.00	15,000.00	125,000.00	125,000.00
10,000.00		10,000.00	10,000.00	10,000.00	1,550.00	1,550.00	1,100.00	1,100.00	5,000.00	5,000.00	2,700.00	2,700.00
1,830,000.00		1,830,000.00	950,000.00	950,000.00	288,000.00	288,000.00	1,000,000.00	1,000,000.00	1,000,000.00	1,000,000.00	1,428,653.00	1,428,653.00
125.00		2,025,000.00	100.00	1,620,000.00	160.00	2,592,000.00	89.00	1,441,800.00	100.00	1,620,000.00	130.00	2,106,000.00
700.00		199,500.00	610.00	173,850.00	525.00	149,625.00	600.00	171,000.00	600.00	171,000.00	650.00	185,250.00
300.00		11,100.00	250.00	9,250.00	250.00	9,250.00	1,800.00	66,600.00	3,000.00	111,000.00	1,500.00	55,500.00
50,000.00		50,000.00	65,000.00	65,000.00	53,000.00	53,000.00	58,000.00	58,000.00	17,000.00	17,000.00	12,000.00	12,000.00
10.00		69,700.00	9.00	62,730.00	18.00	125,460.00	22.00	153,340.00	10.50	73,185.00	28.00	195,160.00
10.00		11,250.00	<i>7</i> .00	7,875.00	18.00	20,250.00	25.00	28,125.00	6.00	6,750.00	18.00	20,250.00
8.00		110,400.00	11.00	151,800.00	18.00	248,400.00	15.00	207,000.00	11.50	158,700.00	12.00	165,600.00
3.00		205,410.00	2.50	171,175.00	3.00	205,410.00	5.00	342,350.00	7 . 50	513,525.00	4.50	308,115.00
2.00		63,200.00	1.50	47,400.00	3.00	94,800.00	9.00	284,400.00	10.00	316,000.00	3.00	94,800.00
4.00		129,000.00	1.50	48,375.00	3.00	96,750.00	2.50	80,625.00	2.00	64,500.00	1.75	56,437.50
400.00		6,800.00	300.00	5,100.00	500.00	8,500.00	1,500.00	25,500.00	10.00	170.00	300.00	5,100.00
2.00		4,800.00	4.50	10,800.00	7.00	16,800.00	4.50	10,800.00	5.00	12,000.00	6.00	14,400.00
1,000.00		12,000.00	1,100.00	13,200.00	1,000.00	12,000.00	1,500.00	18,000.00	1,000.00	12,000.00	800.00	9,600.00
2,000.00		14,000.00	1,300.00	9,100.00	1,500.00	10,500.00	1,000.00	7,000.00	2,000.00	14,000.00	1,300.00	9,100.00
50.00		1,200.00	100.00	2,400.00	50.00	1,200.00	180.00	4,320.00	100.00	2,400.00	130.00	3,120.00
50.00		650.00	150.00	1,950.00	70.00	910.00	330.00	4,290.00	200.00	2,600.00	110.00	1,430.00
1,500.00		7,500.00	2,300.00	11,500.00	1,250.00	6,250.00	1,700.00	8,500.00	1,000.00	5,000.00	2,000.00	10,000.00
1,500.00		7,500.00	2,300.00	11,500.00	1,250.00	6,250.00	1,700.00	8,500.00	1,000.00	5,000.00	2,000.00	10,000.00
50.00		1,650.00	70.00	2,310.00	50.00	1,650.00	25.00	825.00	50.00	1,650.00	55.00	1,815.00
20,000.00		20,000.00	5,400.00	5,400.00	3,000.00	3,000.00	13,000.00	13,000.00	35,000.00	35,000.00	3,500.00	3,500.00
5,000.00		5,000.00	2,200.00	2,200.00	750.00	750.00	400.00	400.00	1,000.00	1,000.00	1,200.00	1,200.00
1,000.00		4,000.00	900.00	3,600.00	400.00	1,600.00	400.00	1,600.00	400.00	1,600.00	260.00	1,040.00
800.00		51,200.00	1,200.00	76,800.00	925.00	59,200.00	1,050.00	67,200.00	800.00	51,200.00	500.00	32,000.00
400.00		7,600.00	400.00 1,200.00	7,600.00	925.00	17,575.00	1,200.00	22,800.00	800.00	15,200.00	300.00	5,700.00 8,000.00
800.00		8,000.00	1,200.00	12,000.00	925.00 925.00	9,250.00 925.00	1,050.00 1,050.00	10,500.00	800.00	8,000.00	800.00	1,200.00
2,000.00		2,000.00 7,500.00		1,300.00 12,300.00	5,000.00	15,000.00	3,500.00	10,500.00	1,500.00 2,500.00	1,500.00 7,500.00	1,200.00 3,500.00	10,500.00
2,500.00 1,000.00		1,000.00	4,100.00 1,300.00	1,300.00	1,000.00	1,000.00	1,050.00	1,050.00	1,500.00	1,500.00	1,500.00	1,500.00
1,000.00		1,000.00	1,300.00	1,300.00	1,000.00	1,000.00	1,100.00	1,100.00	1,500.00	1,000.00	1,200.00	1,200.00
1,000.00		3,000.00	840.00	2,520.00	1,000.00	3,000.00	1,100.00	3,300.00	1,000.00	1,000.00	1,200.00	1,200.00

1,000.00	2,000.00	1,800.00	3,600.00	2,500.00	5,000.00	4,500.00	9,000.00	2,500.00	5,000.00	2,000.00	4,000.00
1,000.00	1,000.00	1,300.00	1,300.00	800.00	800.00	1,000.00	1,000.00	600.00	600.00	500.00	500.00
1,000.00	1,000.00	1,800.00	1,800.00	1,000.00	1,000.00	1,000.00	1,000.00	1,800.00	1,800.00	1,100.00	1,100.00
1,000.00	1,000.00	1,300.00	1,300.00	800.00	800.00				800.00		
						1,000.00	1,000.00	800.00		900.00	900.00
2,000.00	18,000.00	3,000.00	27,000.00	2,000.00	18,000.00	5,500.00	49,500.00	1,200.00	10,800.00	3,500.00	31,500.00
10.00	50,400.00	10.00	50,400.00	10.00	50,400.00	20.00	100,800.00	11.00	55,440.00	9.00	45,360.00
10.00	16,800.00	22.00	36,960.00	12.00	20,160.00	20.00	33,600.00	11.00	18,480.00	11.00	18,480.00
3,000.00	33,000.00	4,000.00	44,000.00	2,500.00	27,500.00	3,100.00	34,100.00	500.00	5,500.00	2,000.00	22,000.00
1.50	640,695.00	1.50	640,695.00	1.40	597,982.00	1.59	679,136.70	1.60	683,408.00	1.60	683,408.00
35.00	15,575.00	50.00	22,250.00	25.00	11,125.00	40.00	17,800.00	45.00	20,025.00	30.00	13,350.00
100.00	905,000.00	100.00	905,000.00	125.00							
					1,131,250.00	87.00	787,350.00	90.00	814,500.00	100.00	905,000.00
150.00	1,453,500.00	105.00	1,017,450.00	150.00	1,453,500.00	125.00	1,211,250.00	150.00	1,453,500.00	170.00	1,647,300.00
100.00	79,700.00	95.00	75,715.00	125.00	99,625.00	90.00	71,730.00	150.00	119,550.00	120.00	95,640.00
10.00	18,000.00	2.45	4,410.00	25.00	45,000.00	14.00	25,200.00	5.00	9,000.00	6.00	10,800.00
125.00	302,375.00	85.00	205,615.00	85.00	205,615.00	82.00	198,358.00	60.00	145,140.00	60.00	145,140.00
9.00	826,920.00	8.00	735,040.00	7.00	643,160.00	10.00	918,800.00	12.50	1,148,500.00	10.00	918,800.00
2000.00	50,000.00	3600.00		2500.00	62,500.00	5800.00	145,000.00	6200.00	155,000.00	6000.00	150,000.00
20.00	15,120.00	25.00	18,900.00	10.00	7,560.00	30.00	22,680.00	16.00	12,096.00	27.00	20,412.00
22.00	297,000.00	28.00		30.00							
			378,000.00		405,000.00	35.00	472,500.00	46.00	621,000.00	50.00	675,000.00
25.00	242,000.00	31.00	300,080.00	30.00	290,400.00	36.50	353,320.00	46.00	445,280.00	60.00	580,800.00
40.00	38,400.00	50.00	48,000.00	35.00	33,600.00	48.00	46,080.00	45.00	43,200.00	78.00	74,880.00
35.00	529,200.00	35.50	536,760.00	37.00	559,440.00	37.00	559,440.00	78.00	1,179,360.00	60.00	907,200.00
4000.00	4,000.00	10000.00	10,000.00	5000.00	5,000.00	5500.00	5,500.00	3000.00	3,000.00	5500.00	5,500.00
5000.00	30,000.00	8400.00	50,400.00	8000.00	48,000.00	5000.00	30,000.00	7000.00	42,000.00	3500.00	21,000.00
5000.00	5,000.00	8400.00	8,400.00	8000.00	8,000.00	6000.00	6,000.00	7500.00	7,500.00	3500.00	3,500.00
400.00	108,000.00	125.00	33,750.00	350.00	94,500.00		44,550.00	300.00	81,000.00	280.00	
						165.00					75,600.00
20.00	2,800.00	20.00	2,800.00	30.00	4,200.00	50.00	7,000.00	35.00	4,900.00	60.00	8,400.00
400.00	14,400.00	175.00	6,300.00	350.00	12,600.00	155.00	5,580.00	200.00	7,200.00	260.00	9,360.00
5000.00	30,000.00	8000.00	48,000.00	12000.00	72,000.00	5000.00	30,000.00	7500.00	45,000.00	8500.00	51,000.00
7000.00	7,000.00	13000.00	13,000.00	22000.00	22,000.00	6000.00	6,000.00	7500.00	7,500.00	6500.00	6,500.00
250000.00	250,000.00	400000.00	400,000.00	300000.00	300,000.00	200000.00	200,000.00	335000.00	335,000.00	400000.00	400,000.00
300000.00	300,000.00	400000.00	400,000.00	350000.00	350,000.00	250000.00	250,000.00	385000.00	385,000.00	400000.00	400,000.00
300000.00	300,000.00	350000.00	350,000.00	350000.00	350,000.00	250000.00	250,000.00	385000.00	385,000.00	400000.00	400,000.00
300000.00	300,000.00	350000.00	350,000.00	335000.00	335,000.00						400,000.00
					The second secon	250000.00	250,000.00	385000.00	385,000.00	400000.00	
250000.00	250,000.00	350000.00	350,000.00	350000.00	350,000.00	250000.00	250,000.00	345000.00	345,000.00	400000.00	400,000.00
250000.00	250,000.00	285000.00	285,000.00	300000.00	300,000.00	250000.00	250,000.00	310000.00	310,000.00	400000.00	400,000.00
300000.00	300,000.00	400000.00	400,000.00	250000.00	250,000.00	275000.00	275 000 00	225000.00	205 000 00	250000.00	250,000,00
300000.00	300,000.00	400000.00	400,000.00	250000.00	250,000.00	275000.00	275,000.00	325000.00	325,000.00	250000.00	250,000.00
3000.00	24,000.00	1100.00	8,800.00	1100.00	8,800.00	3200.00	25,600.00	1300.00	10,400.00	1200.00	9,600.00
4.00	560.00	200.00	28,000.00	200.00	28,000.00	50.00	7,000.00	200.00	28,000.00	240.00	33,600.00
1000.00	21,000.00	1000.00	21,000.00	1000.00	21,000.00	1600.00	33,600.00	1200.00	25,200.00	1100.00	23,100.00
20.00	160,000.00	25.00	200,000.00	20.00	160,000.00	46.50	372,000.00	24.00	192,000.00	21.00	168,000.00
6.00	52,500.00	7.00	61,250.00	7.00	61,250.00	20.00	175,000.00	7.00	61,250.00	7.50	65,625.00
300.00	600.00	2500.00	5,000.00	2500.00	5,000.00	1700.00	3,400.00	1700.00	3,400.00	2800.00	5,600.00
2.00	16,000.00	1.50	12,000.00	1.50	12,000.00	3.32	26,560.00	1.90	15,200.00	1.50	12,000.00
20.00	219,700.00	13.50	148,297.50	23.00	252,655.00	21.00	230,685.00	30.00	329,550.00	30.00	329,550.00
2.00	29,060.00	2.50	36,325.00	2.25	32,692.50	3.00	43,590.00	2.50	36,325.00	15.00	217,950.00
700.00	30,800.00	750.00	33,000.00	730.00	32,120.00	810.00	35,640.00	2000.00	88,000.00	1900.00	83,600.00
200.00	115,000.00 577,200.00	5000.00	115,000.00	5500.00	126,500.00	11000.00	253,000.00	5000.00	115,000.00	8500.00	195,500.00
		500.00	1,443,000.00	330.00	952,380.00	364.00	1,050,504.00	365.00	1,053,390.00	345.00	995,670.00
40000.00	40,000.00	93000.00	93,000.00	150000.00	150,000.00	175000.00	175,000.00	70000.00	70,000.00	85000.00	85,000.00
50000.00	50,000.00	55000.00	55,000.00	50000.00	50,000.00	100000.00	100,000.00	50000.00	50,000.00	95000.00	95,000.00
200000.00	200,000.00	240000.00	240,000.00	100000.00	100,000.00	250000.00	250,000.00	130000.00	130,000.00	185000.00	185,000.00
1.00	27,340.00	1.00	27,340.00	0.90	24,606.00	1.00	27,340.00	1.10	30,074.00	1.00	27,340.00
3.00	151,479.00	3.50	176,725.50	3.20	161,577.60	3.54	178,745.22	6.30	318,105.90	5.50	277,711.50
800.00	154,400.00	800.00	154,400.00	760.00	146,680.00	842.00	162,506.00	87.00	16,791.00	650.00	125,450.00
1000.00	141,000.00	650.00	91,650.00	1250.00	176,250.00	1384.00	195,144.00	1100.00	155,100.00	1000.00	141,000.00
20.00	6,680.00	25.00	8,350.00	21.00	7,014.00	23.25	7,765.50	34.50	11,523.00	33.00	11,022.00
12000.00			6,000.00	12850.00	51,400.00	14200.00	56,800.00	18000.00	72,000.00	17000.00	68,000.00
	48,000.00	1500.00									
15000.00	30,000.00	100000.00	200,000.00	5000.00	10,000.00	500.00	1,000.00	10000.00	20,000.00	1000.00	2,000.00
20000.00	20,000.00	30000.00	30,000.00	28000.00	28,000.00	31200.00	31,200.00	21200.00	21,200.00	18000.00	18,000.00
12.00	605,916.00	15.00	757,395.00	16.00	807,888.00	13.00	656,409.00	15.35	775,067.55	13.50	681,655.50
											5 of 6

5 of 6

70.00	127,610.00	75.00	136,725.00	71.00	129,433.00	79.00	144,017.00	83.00	151,309.00	40.00	72,920.00
70.00	137,620.00	75.00	147,450.00	71.00	139,586.00	79.00	155,314.00	83.00	163,178.00	40.00	78,640.00
2500.00	20,000.00	2500.00	20,000.00	2350.00	18,800.00	2600.00	20,800.00	960.00	7,680.00	1300.00	10,400.00
10.00	950.00	32.00	3,040.00	11.00	1,045.00	12.00	1,140.00	29.00	2,755.00	30.00	2,850.0
12.00	170,400.00	11.00	156,200.00	15.00	213,000.00	24.00	340,800.00	27.00	383,400.00	16.00	227,200.00
8.00	42,400.00	8.50	45,050.00	8.50	45,050.00	7.00	37,100.00	10.00	53,000.00	9.50	50,350.00
7.00	7,000.00	10.00	10,000.00	10.00	10,000.00	5.54	5,540.00	7.00	7,000.00	11.00	11,000.00
3000.00	9,000.00	6250.00	18,750.00	6250.00	18,750.00	6000.00	18,000.00	7000.00	21,000.00	6500.00	19,500.00
5000.00	40,000.00	6000.00	48,000.00	21500.00	172,000.00	18300.00	146,400.00	26000.00	208,000.00	22000.00	176,000.00
4000.00	20,000.00	5000.00	25,000.00	20650.00	103,250.00	16600.00	83,000.00	22000.00	110,000.00	22000.00	110,000.00
1500.00	10,500.00	1325.00	9,275.00	1325.00	9,275.00	2700.00	18,900.00	2700.00	18,900.00	2450.00	17,150.00
3000.00	3,000.00	6790.00	6,790.00	6790.00	6,790.00	6500.00	6,500.00	18500.00	18,500.00	7000.00	7,000.00
2000.00	16,000.00	1000.00	8,000.00	1000.00	8,000.00	2200.00	17,600.00	2800.00	22,400.00	2500.00	20,000.00
2000.00	12,000.00	2500.00	15,000.00	10000.00	60,000.00	13800.00	82,800.00	17000.00	102,000.00	15500.00	93,000.00
2000.00	2,000.00	1000.00	1,000.00	1000.00	1,000.00	1800.00	1,800.00	1800.00	1,800.00	1700.00	1,700.00
3000.00	12,000.00	250.00	1,000.00	250.00	1,000.00	700.00	2,800.00	700.00	2,800.00	650.00	2,600.00
3000.00	6,000.00	350.00	700.00	350.00	700.00	700.00	1,400.00	750.00	1,500.00	700.00	1,400.00
8.00	116,000.00	8.50	123,250.00	8.50	123,250.00	13.29	192,705.00	13.00	188,500.00	13.00	188,500.00
3000.00	27,000.00	7250.00	65,250.00	7250.00	65,250.00	10500.00	94,500.00	10000.00	90,000.00	9800.00	88,200.00
100.00	73,300.00	70.00	51,310.00	415.00	304,195.00	250.00	183,250.00	304.00	222,832.00	240.00	175,920.00
100.00	12,900.00	100.00	12,900.00	445.00	57,405.00	300.00	38,700.00	355.00	45,795.00	300.00	38,700.00
100.00	6,700.00	385.00	25,795.00	385.00	25,795.00	200.00	13,400.00	243.00	16,281.00	200.00	13,400.00
100.00	29,400.00	55.00	16,170.00	385.00	113,190.00	216.00	63,504.00	253.00	74,382.00	200.00	58,800.00
100.00	4,100.00	385.00	15,785.00	385.00	15,785.00	216.00	8,856.00	253.00	10,373.00	200.00	8,200.00
100.00	4,300.00	385.00	16,555.00	385.00	16,555.00	205.00	8,815.00	233.00	10,019.00	200.00	8,600.00
200.00	211,800.00	45.00	47,655.00	385.00	407,715.00	183.00	193,797.00	213.00	225,567.00	175.00	185,325.00
200.00	603,400.00	50.00	150,850.00	385.00	1,161,545.00	450.00	1,357,650.00	233.00	702,961.00	200.00	603,400.00
200.00	244,800.00	45.00	55,080.00	385.00	471,240.00	450.00	550,800.00	213.00	260,712.00	185.00	226,440.00
200.00	139,200.00	85.00	59,160.00	440.00	306,240.00	250.00	174,000.00	305.00	212,280.00	230.00	160,080.00
200.00	4,800.00	430.00	10,320.00	440.00	10,560.00	205.00	4,920.00	255.00	6,120.00	200.00	4,800.00
200.00	33,000.00	90.00	14,850.00	440.00	72,600.00	250.00	41,250.00	304.00	50,160.00	250.00	41,250.00
200.00	9,600.00	450.00	21,600.00	440.00	21,120.00	270.00	12,960.00	325.00	15,600.00	250.00	12,000.00
200.00	9,000.00	370.00	16,650.00	370.00	16,650.00	205.00	9,225.00	233.00	10,485.00	200.00	9,000.00
200.00	54,600.00	50.00	13,650.00	370.00	101,010.00	205.00	55,965.00	244.00	66,612.00	200.00	54,600.00
200.00	18,800.00	370.00	34,780.00	370.00	34,780.00	183.00	17,202.00	203.00	19,082.00	175.00	16,450.00
200.00	76,600.00	40.00	15,320.00	370.00	141,710.00	183.00	70,089.00	203.00	77,749.00	175.00	67,025.00
2500.00	2,500.00	11950.00	11,950.00	12000.00	12,000.00	14000.00	14,000.00	16000.00	16,000.00	12000.00	12,000.00
12.00	254,400.00	11.00	233,200.00	35.00	742,000.00	50.00	1,060,000.00	36.00	763,200.00	37.00	784,400.00
2000.00	1,452,000.00	15000.00	1,815,000.00	15000.00	1,815,000.00	11000.00	1,331,000.00	12000.00	1,452,000.00	15000.00	1,815,000.00
7000.00	224,000.00	6000.00	192,000.00	10000.00	320,000.00	8470.00	271,040.00	00.008	217,600.00	10000.00	320,000.00
1000.00	148,000.00	1000.00	148,000.00	1000.00	148,000.00	720.00	106,560.00	800.00	118,400.00	1100.00	162,800.00
10.00	212,500.00	10.00	212,500.00	15.00	318,750.00	6.64	141,100.00	17.00	361,250.00	16.00	340,000.00
20.00	4,800.00	20.00	4,800.00	20.00	4,800.00	9.00	2,160.00	23.00	5,520.00	22.00	5,280.00
1000.00	1,000.00	10000.00	10,000.00	1000.00	1,000.00	2200.00	2,200.00	10000.00	10,000.00	500.00	500.00
Total:	\$22,506,060.00	Total:	\$23,661,453.00	Total:	\$25,201,209.10	Total:	\$25,450,897.42	Total:	\$26,086,337.45	Total:	\$28,097,154.50
1.00	142,482.00	1.00	142,482.00	0.95	135,357.90	1.05	149,606.10	0.70	99,737.40	0.60	85,489.20
Total:	142,482.00	Total:	142,482.00	Total:	135,357.90	Total:	149,606.10	Total:	99,737.40	Total:	85,489.20
4.00	24 54 400	3.75	24.002.75	3.60	22 007 40	4.00	24.54.00	3.80	25 225 00	3.00	10 003 00
	26,564.00		24,903.75 \$24.903.75		23,907.60		26,564.00	·	25,235.80		19,923.00
Total:	\$26,564.00	Total:	324,903./5	Total:	\$23,907.60	Total:	\$26,564.00	Total:	\$25,235.80	Total:	\$19,923.0
										I	
2,000.00	\$72,000.00	\$3,100.00	\$111,600.00	\$1,375.00	\$49,500,00	\$2,500.00	\$90,000.00	\$3,000.00	\$108,000.00	\$1,000.00	\$36,000.0
2,000.00	\$10,000.00	\$1,300.00	\$6,500.00	\$2,500.00	\$12,500.00	\$4,500.00	\$22,500.00	\$3,000.00	AND THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER.	\$1,500.00	\$7,500.00
2,000.00	\$8,000.00	\$1,800.00	\$7,200.00	\$1,000.00	\$4,000.00	\$2,200.00	\$8,800.00	\$800.00		\$1,500.00	\$6,000.00
		Total:	\$125,300.00	Total:	\$66,000.00	Total:	\$121,300.00	Total:	\$126,200.00	Total:	\$49,500.00
	\$90,000.00	10101:1									
Total:	\$90,000.00	i orai:	7,120,000.00	101411							